C:# Using the Distributive Property of Division Name:

Solve each problem using the distributive property of division. Answers
1) 160+4 = 2) 190:5=
1.
2.
3.
4.
3) 592+8 = 4) 511+7 =
5.
6.
7.
8.
5) 4205 = 6) 360+8=
9.
10.
7) 7659 = 8 675+9=
9) 224+4 = 10) 230+5=
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ﬂh Using the Distributive Property of Division Name: Answer Key

Solve each problem using the distributive property of division. Answers
1) 1604 = 2) 190+5= 40
30 10 30 8 L
4 120 40 5 150 40 2 38
a 74
a /3
3) 592+8 = 4) 511+7 =
70 4 70 3 > &
| e __45
8 560 32 ! 490 21
: : 7 85
N 75
5 420+5= 6) 360+8 = 56
80 4 40 5 %
5 400 20 0. 46
8 320 40
7) 7659 = 8 675+9=
80 5 70 5
9 720 45 9 630 45
9 224+4 = 10) 230+5=
50 6 40 6
4 200 24 5 200 30
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C:# Using the Distributive Property of Division Name:

Solve each problem using the distributive property of division. Answers
1) 370:5= 2) 296+8 =
1.
2.
3.
4.
3) 504+8 = 4) 420+5=
5.
6.
7.
8.
5 498+6 = 6) 315+7=
9.
10.
7) 560-7 = 8) 280+7=
9 87+3= 10) 343+7=
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Using the Distributive Property of Division Name: Answer Key
Solve each problem using the distributive property of division. Answers
370=5= 2) 296+8 =
70 4 30 7 L 4
5 350 20 2 37
8 240 | 56
| 3, 63
4. 84
504+8 = 4) 420+5=
60 3 80 4 > &3
5 400 20 e 45
8 480 24
é 7. 80
8. 40
498+6 = 6) 315+7=
80 3 40 5 % 29
| 49
6 480 18 7 280 35 °
560+7 = 8) 280+7 =
70 10 30 10
7 490 70 7 210 70
87+3= 10) 343+7=
20 9 40 9
3 60 27
7 280 63
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C:# Using the Distributive Property of Division Name:

Solve each problem using the distributive property of division. Answers
1) 165+5= 2) 141+3=
1.
2.
3.
4.
3 168+7 = 4) 230+5=
5.
6.
7.
8.
5 651+7= 6) 504+8 =
9.
10.
7) 105+3= 8) 335+5=
9 288+6= 10) 104+4 =
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ﬂh Using the Distributive Property of Division Name: Answer Key

Solve each problem using the distributive property of division. Answers
1) 165+5= 2) 141+3= 3
30 3 40 7 L
b 150 15 3 120 20 . a7
| 3 24
4 46
3) 168+7= 4) 230-5= o3
6. 63
7 140 28 0 200 e
| 7 35
8, 67
5 651+7= 6) 504+8 = 48
90 3 60 3 S
o 26
7) 105+3= 8) 335:5=
30 5 60 7
3 90 15 . 200 535
9 288+6= 10) 104+4 =
40 8 20 6
6 240 48 4 80 24
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C:# Using the Distributive Property of Division Name:

Solve each problem using the distributive property of division. Answers
1) 204+6 = 2) 612+9=
1.
2.
3.
4.
3) 261+3= 4) 360+8 =
5.
6.
7.
8.
5) 348+4 = 6) 150+6 =
9.
10.
7) 168+7 = 8) 665+7=
9 658+7 = 10) 204+3=

1-10 90|80 70|60 |50]40]30]20[10] O |
[ Math ] www.CommonCoreSheets.com 4




ﬂh Using the Distributive Property of Division Name: Answer Key

Solve each problem using the distributive property of division. Answers
1) 204+6 = 2) 612+9= 34
30 4 60 8 L
6 180 04 2 c8
| 9 540 72
i 3, 87
4 45
3 261+3= 4) 360+8 = 87
80 7 40 5 >
3 240 21 6 25
8 320 40
| . 24
8. 95
5) 348+4 = 6 150+6 = 94
80 7 20 5 o
| 68
4 320 28 5 190 20 10.
7) 168+7 = 8) 665+7=
20 4 90 5
7 140 28 7 630 35
9 658+7= 10) 204+3 =
90 4 60 8
3 180 24
7 630 28 |
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C:# Using the Distributive Property of Division Name:

Solve each problem using the distributive property of division. Answers
1) 424+-8= 2) 370+5=
1.
2.
3.
4.
3) 204+3= 4) 210+6=
5.
6.
7.
8.
5) 162+6 = 6) 440+8=
9.
10.
7) 396+4 = 8) 490+5=
9 150:5= 10) 192+8=
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ﬂh Using the Distributive Property of Division Name: Answer Key

Solve each problem using the distributive property of division. Answers
1) 424+8 = 2) 370+5= 53
50 3 70 4 L
5 350 20 |2 4
8 400 24
i 3 68
4. 35
3) 204+3= 4) 210+6 = o7
60 8 30 5 >
3 180 24 55
= 6 180 30| |°
' 7. 99
8. 08
5) 1626 = 6) 440+8= 30
20 7 50 5 S
6 120 42 10 24
8 400 40
7) 396+4 = 8) 490+5=
90 9 90 8
4 360 36 5 450 40
9) 150+5= 10) 192+8 =
20 10 20 4
5 100 . 50 a
i 8 160 32
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C:# Using the Distributive Property of Division Name:

Solve each problem using the distributive property of division. Answers
1) §7+3= 2) 485+5=
1.
2.
3.
4.
3) 195+5= 4) 640+-8 =
5.
6.
7.
8.
5 72+3= 6) 540+6 =
9.
10.
7) 470+5 = 8 230+5=
9) 480+6 = 10) 228+4 =
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ﬂh Using the Distributive Property of Division Name: Answer Key

Solve each problem using the distributive property of division. Answers
1) 87+3= 2) 485+5= 29
20 9 90 7 L
3 60 27 5 450 35 2 97
| 3 39
a 80
3) 195+5= 4) 640+8 = 24
30 9 70 10 >
5 150 45 6. 90
; 8 560 180
| . 94
8 46
5 72+3= 6) 540+6 = 80
20 4 80 10 o
3 60 12 57
= 6 480 60 ™
7) 470+5 = 8 230+5=
90 4 40 6
5 450 20 5 200 30
9 480:6= 10) 228+4 =
70 10 50 7
6 250 5 4 200 28
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C:# Using the Distributive Property of Division Name:

Solve each problem using the distributive property of division. Answers
1) 783+9= 2) 441+7 =
1.
2.
3.
4.
3) 522+9= 4) 220+4 =
5.
6.
7.
8.
5) 148+4 = 6) 432-9=
9.
10.
7) 162+6 = 8) 252+4 =
9 390:5= 10) 672+8=
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ﬂh Using the Distributive Property of Division Name: Answer Key

Solve each problem using the distributive property of division. Answers
1) 783+9= 2) 441+7 = g7
80 7 60 3 L
1 - __6s3
; : 3, 58
4. 29
3) 522+9= 4) 220+4 = 37
50 8 50 5 >
4 200 20 fe __ 48
9 450 72 ’
7 27
8. 63
5 148+4= 6) 432:9= 73
30 7 40 8 o
4 120 28 w0.___ 84
| 9 360 72
7) 162+6 = 8) 252+4 =
20 7 60 3
19
6 120 42 4 240 1 i
9 390:+5= 10) 672+8=
70 8 80 4
5 350 40 g
| 8 640 32
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C:# Using the Distributive Property of Division Name:

Solve each problem using the distributive property of division. Answers
1) 295+5= 2) 368+8 =
1.
2.
3.
4,
3 216+9= 4) 240+5=
5.
6.
7.
8.
5 800+8 = 6) 480+5=
9.
10.
7) 320+5= 8) 104+4 =
9 495+5= 10) 495+9 =
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ﬂh Using the Distributive Property of Division Name: Answer Key

Solve each problem using the distributive property of division. Answers
1) 295:5= 2) 368+8= 59
50 9 40 6 L
5 250 45 2 46
| 8 320 |48
| 3 24
a 43
3) 216+9= 4) 240+5=
20 4 40 8 > 100
5 5 200 40| e 96
9 180 | 36 f
; ; 64
8 26
5) 800+8 = 6) 480+5= 99
90 10 90 6 o
5 450 30 059
8 720 80
7) 320+5= 8) 104+4 =
60 4 20 6
5 300 20 4 80 24
9 495:5= 10) 495+9=
90 9 50 5
5 450 45 ;
f 9 450 45
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C:# Using the Distributive Property of Division Name:

Solve each problem using the distributive property of division. Answers
1) 666+9 = 2) 272+4=
1.
2.
3.
4.
3) 264+6= 4) 380+4=
5.
6.
7.
8.
5) 490+7 = 6) 148+4 =
9.
10.
7) 413+7 = 8 657+9=
9 270:5= 10) 72+3=

1-10 90|80 70|60 |50]40]30]20[10] O |

[ M ath ] www.CommonCoreSheets.com 9




ﬂh Using the Distributive Property of Division Name: Answer Key

Solve each problem using the distributive property of division. Answers
1) 666+9= 2 272+4= 4
70 4 60 8 L
4 240 32 > 63
9 630 36 :
g 3 44
4. 95
3) 264+6= 4) 380+4 = 20
40 4 90 5 >
5 240 2 A 4 360 ?c) 6. 37
| 7. 929
8 73
5) 4907 = 6) 148+4= 54
60 10 30 7 o
4 120 28 w0 24
7 420 .70 ;
7) 413+7 = 8 657+9=
50 9 70 3
7 350 63 o 630 o7
9) 270+5= 10) 72+3=
50 4 20 4
c 250 X 3 60 12
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C:# Using the Distributive Property of Division Name:

Solve each problem using the distributive property of division. Answers
1) 528+8= 2) 560+7 =
1.
2.
3.
4,
3) 300+6= 4) A40+5 =
5.
6.
7.
8.
5 240+5= 6) 612+9=
9.
10.
7) 224+4 = 8) 500+5=
9 510+6= 10) 335+5=
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ﬂh Using the Distributive Property of Division Name: Answer Key

Solve each problem using the distributive property of division. Answers
1) 528-8= 2) 560+7= 66
60 6 70 10 L
2. 80
8 480 48 7 490 70
i 5 3 50
4, 88
3) 300+6 = 4) 440+5= 48
40 10 80 8 >
6 240 60 5 400 40 o 68
' | . 56
8 100
5) 2405 = 6 612+:9= 85
40 8 60 8 o
5 200 40 0 67
f 9 540 72
7) 224+4 = 8) 500+5 =
50 6 90 10
4 200 24 5 450 50
9 510:6= 10) 335:5=
80 5 60 7
6 480 30 5 300 35
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